
1) 39/11 - 14/12

Answer: ____________

2) 26/
13 ÷ 23

/12

Answer: ____________

3) Find the median of the following set of data:

36, 18, 21, 7, 38, 7, 28, 9, 18, 37, 
29, 8, 5, 31, 13, 24, 23, 32, 4, 20

Answer: ____________

4) Decrease 66 by 64%

Answer: ____________

5) 6849.9 - 6397.5

Answer: ____________

6) Round 17.246948910778143 to 14 
significant figures.

Answer: ____________

7) Factorise d2 + 9d + 20

Answer: ____________

8) Find the range of the following set of data:

-18, 7, 11, 13, -0.3

Answer: ____________

9)
32

2 /10

Answer: ____________

10) (-9964) + (-6720)

Answer: ____________

11)
Find the next three numbers in 
the sequence
12,15,30,33,66,69,138__,__,__

Answer: ____________

12) Round 6.631 to the nearest whole 
number.

Answer: ____________

13) 'What is the probability of rolling 
factors of 11.when rolling a dice

Answer: ____________

14) 'What is the probability of rolling 
factors of 11.when rolling a dice

Answer: ____________

15) Share 89 in the ratio 47:42

Answer: ____________
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16) Decrease 96 by 1/48

Answer: ____________

17) Decrease 96 by 1/48

Answer: ____________

18) Decrease 96 by 1/48

Answer: ____________

19) An amount was decreased by 9% to 
$169.00. Find the original amount.

Answer: ____________

20) 7997.6 - 6927.6

Answer: ____________

21) 2605 + 6307

Answer: ____________

22) Find the value of 'q' by completing 
the square of the following equation: 
2 + 6q + 9

Answer: ____________

23) Find the value of 'q' by completing 
the square of the following equation: 
2 + 6q + 9

Answer: ____________

24) Find the range of the following set of data:

20, 17, 0.5, -6, 0.1, -13, 2, 6, 0, -
0.4, -20, 1

Answer: ____________

25)
34

Volume of Cone 
32

Answer: ____________

26)
34

Volume of Cone 
32

Answer: ____________

27) $124.00 earning 1% compound 
interest for 10 years.

Answer: ____________

28) Find the mean of the following set of data:

0.8, 19, 0.4, 0.6, 0.7, 0.8, 62, 41, 75

Answer: ____________

29) Increase 95 by 1/19

Answer: ____________

30) 5305.6 - 4460.3

Answer: ____________

Copyright 2021 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

January 27, 2021

Sr: 27012021-2009

 

http://www.geekschool.co.uk


Total: ___ / 30
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Answers:

1) 225/66 2) 11/23 3) 33 4) 23.76 5) 452.4 6) 17.246948910778 7) (d + 4)(d + 5)

8) 31 9) 2 10) -16684 11) 141,282,285, 12) 7 13) 1/6 14) 1/6

15) 1 : 88 16) 94 17) 94 18) 94 19) $153.79 20) 1070 21) 8912

22) (q + 3)2 23) (q + 3)2 24) 40 25) 36459.229942461 26) 36459.229942461 27) $136.97 28) 22.26

29) 100 30) 845.3
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